k2 — 1

SH3FEE

BtE B &%

S44E4 A 30 H BLE

RERHEIFEFNEIEAEFE LR VOEY T 4 Ry 7 A« Dy Ry

(Hp7r ™)
B H 4 %A
I EHEDH
1 JRENVEPE
H4T1E4
B4 18,859
e T A IR O 4,010,521
TR &R A A JE 894 577
W ERR T4 3,000,000
Ry b A 1,885,868
FERZFIf 11 355,960
PESLERE ( TERAEDREY | a7 98,352
woE ' E & Gt 10,264,137
2 EEEE
V7 o7 (UxT7Y A MESEEH) 338,580
PREE4A: (BERFE D50 H 43) 325,000
E & O A 663,580
& PE & 7 10,927,717
o Ao
1 JREvAlE
R4 0
Bz 2% ((F2E90, 000 B4 £6, 000) 96,000
TEHY 4 62,732
ERINYN e 70,000
woE A EFE A G 228,732
2 HEHEAfE
0
H O E A EF & 0
= & & 7 228,732
1E IS %) PE 10,698,985




